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SYHEFABMIZ Y A 855,000 382,500 472,500




= 585 A FIlsdt
g = ZUE A5
el ddsgEsd (SH9 H2)
42 RA - ZB . G9(3D) - HRAY - BYS Ol &t A HlmE2
= 675,000
< 180,000
308 XXM SOIA 855,000 382,500 472,500
= 675,000
< 180,000
01 MASNMBLExRS 855,000 382,500 472,500
OSYSIETIZ Y At 855,000
= 675,000
< 180,000
AT P sstE KA 873,600 1,248,000 A374,400
= 672,000
< 201,600
308 XX HMSO0IA 873,600 1,248,000 A374,400
= 672,000
< 201,600
01 MRS SEXS 873,600 1,248,000 A374,400
Oguts detdsits KA 873,600
= 672,000
< 201,600
Ed 280l S X 162,000 180,000 18,000
308 AXISHMSOIH 162,000 180,000 18,000
01 AXEHH B EES 162,000 180,000 18,000
OzEd 40l Sl X 162,000
=g d2II=X 22 25,920 28,800 A2,880
308 ARISHMSOIE 25,920 28,800 A2,880
01 MRS BLExS 25,920 28,800 2,880
ORJIsg d2JI=X 25 25,920
FINSAS USHIS N 11,152 13,120 A 1,968
308 ARISM SOOI 11,152 13,120 A 1,968
01 MASNMBLExRS 11,152 13,120 ~1,968
ORIDtEAE 2sHlE N& 11,182
detdsits SIS YA 4,250 5,000 AT50
201 ZBt=Eh] 1,700 2,000 A300
03 HAr2 I 1,700 2,000 A300
OzlstdsitE SEHME A 1,700
301 LetE2NS 2,550 3,000 450
11 AN’ S 2,550 3,000 450
OzlstZ3siE SEHME A 2,550
s Sa+9 &4 468,350 493,000 A24,650
403 MXISHHS 201N 468,350 493,000 A24,650
01 RIXIEHRIAt 2 2 2 468,350 493,000 N24,650
ORIls Sat79g =4 468,350
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o= 383 2A  FIlsstn
3 =g " 23t
el MEdsgsd (SH9 H2)
A 2A - ZB . CR(3H) - HIRAY - BAES Ofl Ao Oﬁ]gﬁ HR=2
03 A=A RN 1,200 1,200 0
ORISR HAI M =& 1,200
MEHNEFRY 178,681,889 162,101,656 16,580,233
= 11,061,757
pJ 158,395,900
S 9,224,232
Nt B ==2cDIsEsA8MY 22725 150,000 0 150,000
= 105,000
(= 45,000
308 AHXIEMSOIH 150,000 0 150,000
= 105,000
< 45,000
01 AXHHN B EES 150,000 0 150,000
ONMEA H ==2cDI=Es AlEAMY 2
e 150,000
= 105,000
< 45,000
NEA B =222DI=E23AMEAM SO X2 197,500 0 197,500
= 175,000
< 22,500
308 AHXIEMSOIE 118,500 0 118,500
= 105,000
[ 13,500
01 AXHHNBHEES 118,500 0 118,500
ONEA H ==2cDI=Es AEM s
IR K& (B4 118,500
= 105,000
< 13,500
403 AXIEHHISAH=0lH 79,000 0 79,000
= 70,000
< 9,000
01 AXISHHA 22 £ 79,000 0 79,000
OMEA B =S22DI=28 AIEMY =
IR XI&(RH2) 79,000
= 70,000
< 9,000
MEA B =22cDIsEs us8E 100,000 0 100,000
= 70,000
< 30,000
308 XtXIEMSO0IE 100,000 0 100,000
= 70,000
< 30,000
01 HRSHH B EES 100,000 0 100,000




=33 S VRAE SIS
=0 et s
NPRIEEN (crel: &8
2. 24 - BB O9(30) - HRAY - BAS ol ke G o HlmS2
ONMEA H =222)I=sE= AIgAIE
= 28 A& 100,000
= 70,000
= 30,000
JlE2s SUXEA 157,701,000 141,283,000 16,418,000
| 157,701,000
308 AHXIHMSOI & 157,701,000 141,283,000 16,418,000
| 157,701,000
01 AXSHHBNEERS 157,701,000 141,283,000 16,418,000
OJI28 SUXEN 157,701,000
| 157,701,000
SUAXMNEN ArF22lB(%) 30,000 30,000 0
| 30,000
201 L2 | 25,000 20,000 5,000
J| 25,000
01 ArR222ltl 25,000 20,000 5,000
OZAZ=H At 2tel 25,000
| 25,000
202 04d| 5,000 10,000 5,000
| 5,000
01 =WO4 bl 5,000 10,000 A5,000
O324&=H XX 5,000
J| 5,000
SUXMEN ArH22lHI(AlZ) 664,900 660,000 4,900
J| 664,900
308 AXIEHMSOIN 664,900 660,000 4,900
| 664,900
01 IXSHHBAELS 664,900 660,000 4,900
O3UXNZEH Atg2t2(AlZ) 664,900
| 664,900
= Et&Z2 MK A 615,000 0 615,000
308 AXIHMSOIH 615,000 0 615,000
01 IXSHHBAEES 615,000 0 615,000
O= Et&Z2 MBIXI& AL 615,000
H SESUU X3 638,415 672,016 A33,601
308 AXIEHMSOIN 638,415 672,016 A33,601
01 AXSHHBAEXRS 638,415 672,016 33,601
OH ESK XI& 638,415
NEE H SRF &4X - 2= 222,250 222,250
403 XtXISHMS K201 222,250 222,250
01 XISHHAE2ER 222,250 222,250
OLNZE H s82& 44X - B 222,250
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A= s38= A RIlsat
N =g Zd" Yt
el AER=ESY (Gt H2)
AR .24 A . AA(SH) - HEAIY - HE=2 Of| AFOH SEE Hnz=2
SErTArSRt T == B Ofl r =e
= 3,079,037
S 689,557
SO MACHR W= - 248 18,600 18,600 0
= 15,000
= 3,600
308 XXIHMSOIA 18,600 18,600 0
= 15,000
= 3,600
01 X SHHEAEXS 18,600 18,600 0
O=aY MAEK W= - 244 18,600
= 15,000
= 3,600
RI12HIE XA (HEALL) 1,465,490 1,465,490
308 XXM SO0IA 1,465,490 1,465,490
01 XN ELS 1,465,490 1,465,490
O=JIZHIE XI& 1,465,490
=g g s K& 1,445,482 1,700,567 A255,085
308 AXIHMSOIA 1,445,482 1,700,567 A255,085
01 X SHHNEAEXS 1,445,482 1,700,567 A255,085
O=sY 2= sl K& 1,445,482
SIIAH SUAREA &X 1,275,000 1,300,000 /25,000
= 850,000
= 425,000
403 AXIEHHSAH=0lH 1,275,000 1,300,000 A25,000
= 850,000
S 425,000
01 MtXIEtH 22 £ 1,275,000 1,300,000 /25,000
OsJIAH SUASEA £X 1,275,000
= 850,000
= 425,000
AR L2 Hl3 X2 300,000 260,000 40,000
= 200,000
== 100,000
403 TS =01 300,000 260,000 40,000
= 200,000
= 100,000
01 IR A =2 300,000 260,000 40,000
O=4&X 20 H18t XI& 300,000
= 200,000
S 100,000
2SI UAH K2 150,000 390,000 240,000
= 100,000




o= 383 2A  FIlsstn
3 =g " 23t
Rl AERESY EER=E)
AR RA - F - O(BIH) - NRAY - BES 0l Aro A timE=FT
[ 50,000
403 AXIEHMSA=01d 150,000 390,000 240,000
= 100,000
< 50,000
01 AXEHA2E xR 150,000 390,000 240,000
O===J1A UM X2 150,000
= 100,000
< 50,000
sSIIH SHEX 2= X2 130,094 121,800 8,294
= 89,720
(= 40,374
308 AHXIEMSOIE 130,094 121,800 8,294
= 89,720
< 40,374
01 AXHHN B EES 130,094 121,800 8,294
OsgIIH SEX 23 X 130,094
= 89,720
< 40,374
L2 3% SeIIA XI| HIXXIE 1,168,700 1,168,700 0
= 899,000
< 269,700
403 X SHHMSAH=01H 1,168,700 1,168,700 0
= 899,000
[ 269,700
01 MHXIHH A =222 1,168,700 1,168,700 0
L2 2% SYIIAH 2I| HIXXIH 1,168,700
= 899,000
< 269,700
dsI| A HHl B2 300,000 300,000 0
403 TR SHMSAH=01 ™ 300,000 300,000
01 AXESHMA 22 300,000 300,000
Og=sI1Ast BHl 32 300,000
s U MdladE 29 X2 430,000 330,000 100,000
308 XXM SOIA 430,000 330,000 100,000
01 XN BSELES 430,000 330,000 100,000
O=Zy i MHlAME 2Y X 430,000
et SSYHEH =2 68,040 75,600 A7,560
403 AXIEHMSA=Z0l1d 68,040 75,600 A7,560
01 MXIHHA 22 68,040 75,600 A7,560
Ozlgtd ssd94E)| 35 68,040
sIIH SEEE K 31,144 381,144
308 XXM SOIA 31,144 381,144 0




A= S8 A RIS
M =g FHA A3t
ol AEAESY EER=E)
AR .24 A . AA(SH) - HEAIY - HE=2 Of| AFOH ST Hnz=2
SErTArSRt T == B Ofl r =e
01 AXIEHZAExS 381,144 381,144 0
O=J1H S8 K& 381,144
22AXD| 2= 64,000 67,500 23,500
403 XX SHHSA=01A 64,000 67,500 23,500
01 X SHA=EE R 64,000 67,500 A3,500
O340 328 64,000
288 sIH XA 150,000 150,000
403 MHXIHMS 201 150,000 150,000
01 XXt AH22 = 150,000 150,000
OZ2 88 sJIAH XN 150,000
Jlgd NLssa= 28 =4 15,399,926 19,663,958 24,264,032
= 4,053,267
| 3,460,192
T 7,886,467
s&= Moll2& XA 3,400,000 3,400,000 0
308 AXIHMISO0I& 3,400,000 3,400,000
01 AXIEHBAEES 3,400,000 3,400,000
O=%2 Moll28 K& 3,400,000
=ofl OMESE AL XIJAAS 43,758 43,758 0
= 33,660
= 10,098
403 XX SHHSA=01H 43,758 43,758 0
= 33,660
= 10,098
01 XEXISHHI A= 2 & 43,758 43,758 0
Ofdl Ord=s= ZEAIE X2 A 43,758
= 33,660
T 10,098
JI2UiHl SMEX(2 M3S8) A 42,975 50,625 AT7,650
403 XX SHHSKH=01A 42,975 50,625 A7,650
01 XX SN AH=E X 42,975 50,625 27,650
OJI12UEl 2+=MEX(ENMZE) X 42,975
b= DEFE ALSUE ALY 1,581,950 1,529,700 52,250
| 1,091,000
= 490,950
403 X SHMSA=01A 1,581,950 1,529,700 52,250
| 1,091,000
= 490,950
01 XXt AH22 £ 1,581,950 1,529,700 52,250
Ot NEE AMASEUSH ALY 1,581,950
| 1,091,000
= 490,950
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A =m3 2 SIsa
HH: ol AMe 25
Col: J|YE NASHAS EF |4 (12l M2
AR RA - ZB . B(S) - MRAY - B Ofl by A HnS2
DAFMSMACHT] JBHEA ALY 849,200 1,211,600 362,400
| 790,000
= 59,200
408 XEXI SIS XH=0| A 849,200 1,211,600 362,400
I 790,000
= 59,200
01 XIXISHIXHE 2 X 849,200 1,211,600 362,400
OTATSMAICHT] I[P R AL 849,200
p 790,000
= 59,200
OE APCHAYT 2 () 975,000 0 975,000
| 650,000
= 325,000
403 XIS S XH=0| & 975,000 0 975,000
p 650,000
= 325,000
01 KRS =R X 975,000 0 975,000
OB HE AC AL RS 975,000
y) 650,000
= 305,000
AERI0| ICT S=8 SHAHAILAUSMEH) 420,562 706,787 286,225
p 309,237
= 111,325
408 XIS S XH=0| & 420,562 706,787 286,225
p 309,237
= 111,325
01 KIXISHIN=E X 420,562 706,787 286,225
OAIERI0] ICT S=8 SHAHAI4L210) S 0131 420,562
ol 309,237
= 111,325
D HIDHE AHHAIE X 83,900 172,000 83,100
p 83,900
403 XXISHHI S XH=0| & 83,900 172,000 83,100
ol 83,900
01 KIXISHIRF=E X 83,900 172,000 83,100
ODE HIJH THHHAIE XI® 83,900
ol 83,900
NS0 ICT S22 SHAHEUAL) 210,667 216,725 16,058
= 210,667
403 XIS S XH=0| & 210,667 216,725 16,058
= 210,667
01 XIXISRIKF=E X 210,667 216,725 16,058




A= =33 SN RIS
mal: =9 W U3}
ool Dl NHSHRS SX §4 (o) @)
424 - ZH - O9i(E) - MRAY - BES ofl & A HDS2

OASR0 ICT S8 4 (EZAA) 210,667
2 210,667

NS0 IAXIOIS B3 AL (SR 2,940 0 2,940
= 2,940

403 RXISHHI SRH20I & 2,940 0 2,940
2 2,940

01 XK= 2 = 2,940 0 2,940
OASR0 HUKIOIE SS3HSHRE) 2,940
2 2,940

OIA MARAIA BTHEH 169,650 181,250 A11,600
| 117,000
= 52,650

403 XX SHHIS KH= 0 & 169,650 181,250 A11,600
| 117,000
= 52,650

01 XXISHHIRI =2 = 169,650 181,250 A11,600
OQI& MAAIA BCH3 169,650
| 117,000
= 52,650

B MATAIE B THSH 230,550 78,300 162,250
| 169,000
= 71,550

408 XX SHRIS XH= 01 & 230,550 78,300 162,250
| 159,000
= 71,550

BRI 230,550 78,300 162,250
OBiA MAAIA BTHE 230,550
o] 159,000
= 71,550

ANIEZI0I ICT S=8 SHAHALES) 224,475 552,084 £327,609
| 165,055
= 59,420

403 KX SIS XH=OI & 224,475 552,084 £327,609
| 165,055
= 59,420

01 XIS AH= 2T 224,475 552,084 327,609
OASR0 ICT S8 S AEE) 224,475
| 165,085
= 59,420

2EY NASHNZ 54 291,125 342,500 £51,375

403 RXISHH SRH20I & 291,125 2,500 A51,375

01 XX SR =2 = 291,125 2,500 A51,375
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a2 =33 2N 1 RIS
M =9l FMR U5
ool JIYE NASIAR ZH |4 CCRE)
A2 2N - BB O9(53) - HSAY - BES O &kt A Hms2
| & 3,600
HIOIQECHsI=BIEHR] T4 5,709,000 3,802,500 1,906,500
= 3,806,000
= 1,908,000
408 XEXISHHI S XH=0IH 5,709,000 3,802,500 1,906,500
= 3,806,000
= 1,908,000
BGENEES 5,709,000 3,802,500 1,906,500
OHI0| Q& == T =4 5,709,000
= 3,806,000
& 1,908,000
YA RS SN2 94,500 105,000 10,500
408 RXISHHIERZ0/H 94,500 105,000 10,500
01 XX K22 = 94,500 105,000 10,500
OB+ RS SHX 94,500
ADIEE H203 |4 AsY(E) 51,000 0 51,000
202 OfH| 51,000 51,000
04 =301 4| 51,000 51,000
OADIER M20ls |4 2ASH(T) 51,000
SMAD|BES 43,215,450 23,708,050 19,507,400
= 25,569,000
= 17,646,450
BH<=IH & AR 24,479,000 8,600,000 15,879,000
= 24,479,000
402 QIZHHE 0| 23,538,000 7,100,000 16,438,000
= 23,538,000
02 2RI AN 2 (OIH T ) 23,538,000 7,100,000 16,438,000
Ol IR & A 23,538,000
= 23,538,000
408 RXISHHERZ0IH 941,000 1,500,000 559,000
= 941,000
BGENPEES 941,000 1,500,000 559,000
Ol & ALY 941,000
= 941,000
S CHHI 4N L ALY 1,226,250 1,226,250 0
= 1,090,000
= 136,250
408 XEXI SIS XH20IH 1,226,250 1,226,250 0
= 1,090,000
= 136,250
01 RXISHR=RE 1,226,250 1,226,250 0
OB L THHI 4L ALY 1,226,250
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A= =33 S VRAE SIS
B =0 AR Asl
Rl S|P EER=E)
4224 - B B9IEH) - AIRAY - B of v G o HIDE2
= 1,090,000
=S 136,250
2B HIANY (M EALY) 2,362,000 2,281,000 81,000
403 AXIEHMSAH=0lH 2,362,000 2,281,000 81,000
01 A= 2L 2,362,000 2,281,000 81,000
OZI|eHEHIA 2,362,000
HREBXHCIAI (M EALS) 6,872,000 4,325,500 2,546,500
403 AXIEHMSAH=201H 6,872,000 4,325,500 2,546,500
01 AXISHA=2E2 X 6,872,000 4,325,500 2,546,500
Ol=7&3XEeIAME 6,872,000
ANZ==Cl A E At (M EALY) 4,336,200 4,336,000 200
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03 SIHHNEE 2 SHIEx 2,710,000 2,651,400 58,600
O=FHAR elAdl X& 2,710,000
Il 1,626,000
= 1,084,000
F4HE2 HACCP HAE! RIR (MAEHH]) 101,332 122,696 A21,364
Il 82,720
S 18,612
308 AHXIEMSOIH 101,332 122,696 A21,364
Il 82,720
[ 18,612
01 X SHHNIAEXS 101,332 122,69%6 A21,364
OS=42 HACCP AL S RIJ(HAHEHH) 101,332
Jl 82,720
== 18,612
HUHSLSAMZAIRY 28+ XS 9,500 9,500 0
= 4,750
S 4,750
308 AtXIEMSOIE 9,500 9,500 0
= 4,750
= 4,750
01 HRHHBSEES 9,500 9,500 0
OGl=ASAUZAY 2= NJ 9,500
= 4,750
= 4,750
SUSPHRA HZALY 105,000 105,000 0
308 KEXIEHHMSOIS 105,000 105,000
01 AIXHHBAELS 105,000 105,000
OHIAME & HMeldlg X 105,000
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